


@ Basic numeracy &

facts revision

4 + 24 = 28
16 + 7 = 23
7 + 23 ::2§§i:
20 - 9 = 11
28 - 21 = 7
43 - 7 = 36
1x3:z
4 x 3 =12
4 x 5 = 20
6.5z
24 + 4 = 6
5 + 5 = 1

(W Year 4 - Book 1

open
always
south
near
asleep
below
easy

even

closed

Match these opposite words.

never

north

far

awake

above

hard

odd

above
hard
closed
far
north
awake
never
odd
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@ Basic numeracy &

facts revision

9 + 11 = 20
21 + 7 = 28
7 + 36 = 43
38 - 2 = 36
23 - 18 = 5
30 - 3 = 27
2x3=L
4x6:i
1 x5 = 5
2+ 3 =3
32+ 4 = 8
45 + 5 = 9
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@ Basic numeracy &

facts revision
2 + 36 =38 | ¥
18 + 5 = 23
3 + 27 = i
37 - 4 = i Write these words in alphabetical order.
23 - 19 = 4
50 - 5 :? count cocoa
3 % 3 - T cold cold
4 x 8 = 372 cosy come
9 x 5 = 45 come cook
12 = 3 = T cocoa cosy
4 - 4 - T cook count
5 -5 = 3 cover cover
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@ Basic numeracy &

facts revision

4 + 33 =37
19 + 4 = 23
5 + 45 = 50
24 - 5 = 19
27 - 22= 5
41 - 2 = 39
4 x 3 =12
4x1=i
3 x 5 = 15
5+ 3 = 5
16 + 4 = 4
30 - 5 = 6

Year 4 - Book 1

How much money in each 'piggy-bank'?
-

D00 3.5

Cofooc Lol

~

s "(\A \l =

=

$2.30 s \’K\_Q N
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@ Basic numeracy &

facts revision

5 + 19 = 24
22 + 5 = 27
2+39=E
28 - 4 = 24
23 - 16 = 7
30 - 7 = 23
5x3:E
4x4=i
6 x 5 = 30
12+ 4 = 3
20+ 5 = 4

Year 4 - Book 1

Werite six naming words (nouns) using these
pictures for ideas.

(Some possible answers)

computer, pencil,
book, teeth, hat,
magnifying glass,
eyes, ears, nose,
arms, shoulders,
hands, chin, hair,
glasses, paper,
water bottle, maps
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@ Basic numeracy &

facts revision

3 + 35 = 38 Year 4 - Book 1

28 + 3 = 31 | &=

6 + 18 = 24

44 - 7 = l Using notes and / or coins, how would you

18 - 16 = 2 make up these sums of money?
_ (Some possible answers)

31 - 4 = 27 $1.40 $1 coin, 2x 20c

6 x 3 = 18 $2.50 $2 coin, 50c

4 x 2 = 8 $2.60 $2 coin, 3x 20c
— $2 coin, $1 coin, 50c,

10 x 5 = B0 $3.80 20c, 10c

21 + 3 = 7 $5 note, $2 coin,

40 = 4 = 10 $7.90 B0c, 2x 20c

_ . $10 note, $2 coin,
10 = 5 'i $12.70 50c, 20c
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@ Basic numeracy &

facts revision

7 + 37 = 44
16 + 2 = 18
4 + 27 = 31
31 - 6 = 25
39 - 31 = 8
24 - 8 = 16
7 x 3 =21
4 x 10 = 40
2 x 5 :_JEL_
24 + 3 = 8
12+ 4 = 3
3+ 5 = 7

- Book 1

Werite six doing words (verbs) using these
pictures for ideas.

(Some possible answers)

¥
throwing, pitching,

X—\ smiling, hitting,
swinging, stepping
5
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@ Basic numeracy &

facts revision
6 + 25 = 31 n Year 4 - Book 1
31 + 8 = 39 “
8 + 16 = 24
19 - 3 =16 Reading a centimetre scale
24 - 19 = 5
— Ocm 10 20 30
41 - 7 = 34 TR I e e I |
4 x 3 = 12 E C F B A D
7 x b = 35 A= 20cm D= 29cm
27 = 3 = L o
L B-= 15cm E-= 2cm
36 + 4 = 9 — —
25+ 5 = 5 ¢=  6cm F=" 1llcm
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@ Basic numeracy &

facts revision

3 + 16 = 19
19 + 5 = 24
7 + 34 =41
35 - 6 = 29
29 - 22 = 7
21 - 8 = 13
9x3:z
4 x 9 = 36
5 x 5 = 25
30+ 3 = 10
20+ 4 = 5
40 -+ 5 = 8

Shorten these words using apostrophes.

I will Il
is not isn't
that will  that'll
Iam I'm
he will he'll
did not

didn't

itis it's
shewill she'll
willnot  won't
thatis  that's
T have I've
it will it'l
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@ Basic numeracy &

facts revision

6 + 29 =
22 + 7
8 + 13
38 - 3
31 - 28
24 - 6
10 x 3
4 x 5
8 x b
18 = 3
8 + 4
50 = 5

35

29

Year 4 - Book 1

Werite this analogue time as digital time.

02:00 11:30
(15:30) (14:00) (23:30)
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@ Basic numeracy &

9
24
6
35
39
22

(0 )N S L

24

+

+

+

facts revision

51 Year 4 - Book 1
29 faas
45
28 | .
- omplete each word by adding a vowel.
Yl ig 1 id s
1 _— _— _—
—9 b a g |l a d s a
3 b v a t i
T u 9 m a L
12 — = -
- h a s n y t t
20 — — o
2 h i s P u t a
6 h e r P a f wooi
1 h u t p o t w o
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@ Basic numeracy &

facts revision

7 +28 =35
35+ 4 = 39
3 +19 = 22
58 - 6 = 52
25 - 18 = 7
32 - 4 = 28
2 x 3 = 6
4 x 6 = 24
1 x5 =5
2 =3 =_3
32+4:L
45 - 5 = 9

Year 4 - Book 1

Rename these numbers by filling in the gaps.
5= 10 +5 125=100 +20+5

37= 30 +7 143= 100+40+ 3

48= 40+ 8 211= 200 + 10 +1

63= 60 +3 198=-100 +90+ 8

78= 70+ 8 315=300 +10+5

81= 80+ 1 293= 200+90+ 3

15= 10 +5 401=400 + O +1
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@ Basic numeracy &

facts revision
6 + 52 = 58 gm Year 4 - Book 1
18 + 7 = 25
4 + 28 = 32
39 - 7 = 32 Whrite these shortened words as two words.
32 - 25 =

5 7 Tl T will  hell he will
25 - 9 = 16 —
3 x 3 =T I'm I am  thats that is
4 x 8 = 32 it's it is don't  do not
9 x5 = 45 lluen  we will youre you are
12 + 3 = 4 . T I
) '1- H

4 - 4 =—1 ve i won will not
15 + 5 = 3 it it will  isn't is not
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@ Basic numeracy &

facts revision

7 + 32 = 39 Em\/ear‘4-300kl
2b + 7 = 32

9 + 16 = 25

49 - 8 = 41 Draw the digital fime on each clock.
26 - 17 = 9

42 - 6 = 36

4 x 3 =12

4 x 1 = 4

3 x5 =15

15+ 3 = 5

16 + 4 = 4 . .

30 5 = 6 02:30 10:15
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@ Basic numeracy &

facts revision

8 + 41 = 49
17 + 9 = 26
6 + 36 = 42
51 - 9 :472 Change these words fo mean ‘more than one’
29 - 24 = 5 _ e

— || city cities  loaf loaves
45 - 6 = 39 S _
5 x 3 = 15 || "th watches amy armies
4 x 4 = 16 tooth  teeth  cadlf calves
6 x 5 = 30 ||child children man men
3 + 3 =1 ) h—

- orse oose
12+ 4 = 3 _norses  goese  geese
20+ 5 = 4 box boxes echo  echoes
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@ Basic numeracy &

facts revision

1
37
8
42
26
30
6
4
10
21
40
10

+ 29 =
+ b
+ 18
- 8
- 19
- 2
x 3
X 2
x b
+ 3
+ 4
+ 5

30

42

26

34

7

28

18

8

50

7

10

2

Year 4 - Book 1

Using notes and / or coins, how would you

make up these sums of money?
(Some possible answers)

$140 $1 coin, 2x 20c
$2.70 $2 coin, 50c, 20c
$2.60 $2 coin, 3x 20c

$330 $2 coin, $1 coin, 20c, 10c

$5 note, $2 coin, $1 coin,

8.90
¥ 50c, 2x 20c
$10 note, 2x $2 coins, 50c,
$14.80 20c, 10c
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@ Basic numeracy &

facts revision

8 + 34 = 42
19 + 7 = 26
2 + 28 = 30
27 - 8 =19
30 - 24 = 6
42 - 9 = 33
7 x 3 =21
4 x 10 = 40
2 x b =10
24 - 3 = 8
12 =+ 4 = 3
35+5:T

Change these words o mean ‘only one’.
lives live or life sheep sheep
halves half armies army
teeth  footh  women woman
boxes box children  child
cities city feet foot

hands hand heroes hero
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@ Basic numeracy &

facts revision

8 + 19 = 27 Year 4 - Book 1

24 + 6 = 30 =

9 + 33 = 42

33 - 4 =29 What would it cost?

50 - 46 = 4 A,>

37 - 9 = 28 @ @ S

8 x 3 = 24 @»@
| $9.50 each | | $2.60 each | | $6.40 each |

4 x 3 = 12

7 x b = 35 2 soccer balls $19,00

27 = 3 :L 3 hamburgers $7.80

36: 4 = 9

25 - 5 = § 3 teddy bears $1920
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@ Basic numeracy &

facts revision

4 + 29 = 33
46 + 4 = 50
9 + 28 = 37
43 - 5 = 38
38 -29 = 9
60 - 8 = b2

9x3:z
4 x 9 = 36
5 x 5 = 25
30 - 3 =10

20+ 4 = 5
40 + 5 = 8

Year 4 - Book 1

Unjumble these letters to spell
the days of the week.

ySuadn Sunday
ruTsydah Thursday
sdyTaue Tuesday
dyraiF Fri day
nyadMo Monday
dneWdysae Wednesday
aydutSar Satu rday
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@ Basic numeracy &

facts revision

Name each 2D shape.

A

triangle  square rectangle

(Y

circle  pentagon hexagon

5 + 38 = 43
29 + 9 = 38
8 + 52 = 60
30 - 1 = 29

42 - 37 = 5
26 - 8 = 18
10 x 3 = 30
4 x 5 = 20
8 x 5 = 40
18 + 3 = 6
8 + 4 = 2

50 + 5 = 10

hexagon, triangle, square, rectangle, circle, pentagon
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